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Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version Authentic
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Define:

(1) Fluid  (i1)Static head (iii) Dynamic pressure (iv) Vacuum
Discuss behavior of time-independent fluids.

Explain inclined manometer with neat sketch.

Explain Reynold’s experiment with figure. Define and signify
Reynold’s number.
Explain continuous gravity decanter and derive equation for the
position of interphase.

OR

Derive Bernoullie equation.

Explain friction factor chart and its use.
A 15 KW pump with 80% efficiency is discharging oil of specific
gravity 0.85 to an overhead tank from storage tank. The surface of
the oil in storage tank from datum line is 5 m and that in overhead
tank from datum line is 25 m. Both tanks are open to atmosphere. If
the losses in the piping system are 1.75 m of flowing fluid, calculate
the volumetric flow rate of oil.

OR
Explain head loss due to sudden contraction with figure.
Differentiate between pipe and tube.

State various valves with their specific application. Explain globe
valve with figure.
Describe centrifugal pump with neat sketch.

OR
Give general characteristics of fans, blowers and compressors.
Describe steam jet ejector.
Give classification of flow measuring devices. Explain rotameter.

Derive formula to measure mass flow rate of fluid by orificemeter.
Explain mechanism of batch fluidization.
OR

Differentiate hydraulic conveying and pneumatic conveying.
A venturimeter is installed in a 25 mm ID pipe. The pressure drop
across upstream and downstream side and throat of venturimeter is
2 m of water. Calculate the volumetric flow rate in m’/s.
Data: Diameter of throat = 15 mm

Density of water = 1000 kg/ m’

Co-efficient of venture = 0.98
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